Efficiency vs P,

- 0.1p T T

= E : : :

L 0.09F------rerieeeeeees o RREEEEEEEEE
> : : :

2 0.08F - prrrierennnnes [RRERERRERRE ARREEELEELEE
o : : :

o . . .

g 0.07 seieneeeeeee Froseeeee R
0]

0.06 e B e
0.05 ¥/ ERCTRRR e o

0.04F oot T e
0.03 S —
0.02 |
0.01 N —

T AT

—=— DQM_mkFit_TTbhase

—— DQM_mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4

= 0.1
g
L S R
(8]

$0.08
£0.07
0.06
0.05]
0.04
0.03

cle

et

007 3 | 1 | L 1| 12 1 1 o
0.0 A
o Ofhh : Lo
T 1:— L 44 00:— 44 4
o F
0.9F1{- A E-AREH- EEH-A = F -
08 =2 10 1 2 3

TP @



	Contents
	Page 1


